TEXAS A&M	Purchase Order						
ALM UNIVERSITY	Purchase Order Date	PO/Reference No.	Revision No.				
Sales Tax Exemption	Apr 17, 2020	AB0533010	0				
Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases	Contact instructions for questions regarding this Purchase Order: If Buyer Contact information is listed below, please contact the Buyer.						
made for the exclusive use of Texas A&M.	If not, please contact the Customer. Buyer Contact:						
The laws of the State of Texas shall govern this Purchase Order.	Buyer	Buyer Email	Buyer Phone Number				
Member of the Texas A&M University		p-winkler@tamu.edu	979.845.4556				
System.	Customer Contact:						
	Name:	TAMU ORDERI QENG	NG DEPT 02-				
	Email:	purchasing@q	atar.tamu.edu				
	Phone:	+974 4423 052	21				

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/

Suppli	ier Information	Deliver	y Information
Supplier Name	PRIME DISTRIBUTION TRADING COMPANY	Delivery Address TAMUS Member:	02-Texas A&M University
Address	ABA TOWER AIRPORT RD DOHA, QA	Wesam Mansour (02-Electrical	(02)
FOB / FREIGHT Pre-Pay & Add	Destination No	Engineering) Texas A&M University at Qatar	

Paym	nent	Terms	0, Net 30		c/o (-				
		Number	- no value			idation				
Head						ox 23874				
	ract	Number	- no value			ation City a, XX 0				
Line					Qata	•				
Quot	te ni	umber			-	' ery Informa	ation			
						ired Deliver				
					Date		,			
					Ship	Via	Best	Carrier-Bes	st Way	
				Notes	s to Sup	olier				
Shipp	ping	lnstruct	ions							
Note	e to S	Supplier				Surface Pro 7				
					A&M University at Qatar campus as per the					
				a	ttached q	uote.				
				Pa	ayment T	erms: Net 30)			
				D	Delivery Terms: 7 to 9 Weeks					
				SI	hipping T	erms: DPP				
Attac	chm	ents for s	upplier							
PO C	laus	ses								
Head	der	001	No Collect	Neither C	OD nor "C	Collect" freig	ht or han	dling char	ges will	
			Freight	be accept	ed.	-		-	-	
			Charges							
			Accepted							
		102	TAMU Terms					,		
			& Conditions					-		
				5		erms & Conc amu.edu/sup				
				· ·	-	bsite please	•	-		
						e drop-dowr				
Line					Catalog	Size /	Unit		Ext.	
No.	Pro	duct Des	scription		No.	Packaging		Quantity		
1 of	12.9	9-inch iPa	d Pro Wi-Fi 51	2GB -	n/a	EA	1,493.15	9 EA	13,438.35	
13	Spa	ice Grey (2020) - QAR5,4	450 ea x 9			USD		USD	

= QAR 49,050.00

		n/a	EA	1,719.18	3 EA	5,157.54
of 13	QAR299 ea	1		USD		USD
10	Surface Arc Mouse Poppy Red -	n/a	EA	81.92	1 EA	81.92
9 of 13	Surface Pen Charcoal - QAR345 ea x 4 = QAR 1,380.00	n/a	EA	94.52 USD	4 EA	378.08 USD
8 of 13	Surface Pen Poppy Red - QAR345 ea	n/a	EA	94.52 USD	1 EA	94.52 USD
	ea	I				
7 of 13	Microsoft Surface Pro 7 - Platinum, Intel Core i7, 16GB, 1TB - QAR9,350	n/a	EA	2,561.64 USD	1 EA	2,561.64 USD
	6,755.00	I				
6 of 13	Smart Keyboard Folio for iPad Pro Apple 12.9-inch (4th generation) - US English - QAR965 ea x 9 = QAR	n/a	EA	264.38 USD	7 EA	1,850.66 USD
13	Adapter - QAR283 ea x QAR 2,547.00	1		USD		USD
5 of	Apple USB-C Digital AV Multiport	n/a	EA	77.53	9 EA	697.77
13	QAR77 ea x 9 = QAR 693.00	1		USD		USD
4 of	Apple USB-C to USB Adapter -	n/a	EA	21.10	9 EA	189.90
13	Jack Adapter - QAR38 ea x 9 = QAR 342.00	1		USD		USD
3 of	Apple USB-C to 3.5 mm Headphone	n/a	EA	10.41	9 EA	93.69
13	QAR583 ea x 9 = QAR 5,247.00	1		USD		USD
	Apple Pencil (2nd Generation) -	n/a	EA	159.73	9 EA	1,437.57

11 of 13	Microsoft Surface Pro 7 - Platinum, Intel Core i7, 16GB, 256GB - QAR6,275 ea x 3 = QAR 18,825.00					
12 of 13	Surface Pro Type Cover with Fingerprint ID - Commercial Black - QAR435 x 3 = QAR 1,305.00	n/a	EA	119.18 USD	3 EA	357.54 USD
13 of	Surface Pro Signature Type Cover Poppy Red - QAR549 ea	n/a	EA	150.41 USD	1 EA	150.41 USD
13		1		Tota	al 26,48	9.59 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000 United States